» Head of 1t June

» No patches (i.e. if fit fails then pion TrackFitResults, other hyp are
run only if pion fit succeed)

» Only few data members added to TrackFitResults, to propagate
genfit::FitStatus members

1000 GeV/c pt pions, theta 60°, REAL pattern recognition
Pions fitted as pions
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TrackFitResults.m_Chi2 {TrackFitResults.m_pdg==211}
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TrackFitResults.m_pValue:TrackFitResults.m_Chi2 {TrackFitResults.m_pdg==211)
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TrackFitResults.m isFitted

TrackFitResults.m_isFitted:TrackFitResults.m_pValue {TrackFitResults. m_pdg==211}

There are “unfitted” tracks
But with pValue !=()

Should we remove them?

The “IsFitted” info i

s not prbpagated to TrackFitResults
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